Stephen’s solution to Wumpus World Activity

. Va,y,t BREEZE(t) A Loc(z,y,t) = PiT(z,y+1) v PiT(z,y - 1) v PIr(2 + 1,y) v P1T(2 - 1,9)
. Va,y,t SAFE(z,y,t) < - P1T(z,9) A (- WuMPUSLOC(x,y,t) v WUMPUSDEAD(t))

. Va,y,t WumpusLoC(z,y,t) < WuMmpusLoC(x,y,t+1)

. Yt HAVEARROW (¢ + 1) < HAVEARROW(t) A = SHOOT(t)

. (3p<t+1 SCREAM(p)) < WUMPUSDEAD(? + 1)

. HAVEGoOLD(t) v (GLITTER(t) A GRAB(t)) < HAVEGOLD(t + 1)

. Loc(1,1,t) A HAVEGOLD(t) A CLIMB(t) < WIN(t +1)

. Va,y,t Loc(x,y,t+1) <

Loc(z,y + 1,t) A FACING(South,t) A FORWARD(t) A = BuMP(t+1) v
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oc(z,y—1,t) A FACING(North,t) A FORWARD(t) A - BumpP(t+1) v
oc(zx+1,y,t)

A FACING(West,t) A FORWARD(t) A -~ Bump(t+1) v
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East,t) A FORWARD(t) A - BuMP(t+1) v
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oc(x - 1,y,t) A FACING
Loc(z,y,t) A FORWARD(t) A Bump(t+1) v
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Loc(z,y,t) A = FORWARD(?)



